
6 lebxz - v"awg2011 xanv
a 8 libxz:oniqa laben epi` x1 xy`k ,d`ad ix`pild oepkzd ziira z` xezt
max z = 2x1 − 3x2

s.t : 6x1 + 3x2 ≤ 12

−x1 + 3x2 ≤ 7

x2 ≥ 0 aivp
x1 = x11 − x12 xy`k
x11, x12 ≥ 0 :diraa aivp

max z = 2x11 − 2x12 − 3x2

s.t : 6x11 − 6x12 + 3x2 + s1 = 12

−x11 + x12 + 3x2 + s2 = 7

x11, x12, x2 ≥ 0 :qwltniq dyrpdivxhi` qiqa z x11 x12 x2 s1 s2 RHS

z 1 -2 2 3 0 0 00 s1 0 6 -6 3 1 0 12
s2 0 -1 1 3 0 1 7
z 1 0 0 4 1

3
0 41 x11 0 1 -1 0.5 1

6
0 2

s2 0 0 0 3.5 1

6
1 9`ed ilnihte`d oexztdy eplaiw

x1 = x11 − x12 = 2− 0 = 2

x2 = 0

z = 4

1



zeil`e
`id zilnixtd dirad
max z =

n∑

j=1

cjxj

s.t :

n∑

j=1

aijxj ≤ bi (i = 1, ..., m)

xj ≥ 0 :`id dl zil`e
d dirad
min w =

m∑

i=1

biyi

s.t :
m∑

i=1

aijyi (j = 1, .., n)

yi ≥ 0:zilnixtd dirad .zil`vixhn dxeva aezkl xyt`
max z = cx

s.t : Ax ≤ b

x ≥ 0.min
wn zvixhn Ae mixehwe c, b, x xy`k:zil`e
d dirad
min w = yb

s.t : yA ≥ c

y ≥ 0 libxz:ix`pil oepkz ziira dpezp
max z = 5x1 + 7x2 + 4x3

s.t : 2x1 + 5x2 ≤ 20

x1 + 3x2 + x3 ≤ 12

xi ≥ 0 .zil`e
d dirad z` gqp .1.qwltniqa zilnixtd dirad z` xezt .2.zil`e
d diral oexztd z` `vn zilnixtd dirad ly oexztd zxfra .3oexzt:zil`e
d dirad
min w = 20y1 + 12y2

s.t : 2y1 + y2 ≥ 5

5y1 + 3y2 ≥ 7

y2 ≥ 4

yi ≥ 0 :qwtlniq mr zilnixtd z` xeztp2



divxhi` qiqa z x1 x2 x3 s1 s2 RHS

z 1 -5 -7 -4 0 0 00 s1 0 2 5 0 1 0 20
s2 0 1 3 1 0 1 12dpexg` z 1 0 7.5 0 0.5 4 58z` epiyr `l) x1 0 1 2.5 0 0.5 0 10(zeivxhi`d x`y x3 0 0 0.5 1 -0.5 1 2 `ed oexztd f`

x1 = 10, x3 = 2, x2 = 0, z = 58 = w :`ed zil`e
d ly oexztd
y1 = 0.5, y2 = 4, w = 58.qwltniqd ly dpexg`d divxhi`a s1, s2 in
wn mvra md y1, y2y al miyp

3


